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Note :  Answers may be written either in English or in Hindi; but the same medium should be

used throughout the paper.
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Attempt 4/l questions.
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1. (a) Fill in the blanks (Do any five) : 5
o = g Fif (P ute @i
() The obverse of an I proposition is

.......................
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(i) In the categorical proposition ...........ccoceeueen. both subject and predicate terms

are undistributed.

mrw-q—ﬁ—ﬂ-ﬁa .......................... ﬁmﬁmﬁaﬂtﬁﬁ m
T ‘ |

(ii)) When both the premises are negative in a categorical syllogism the fallacy committed

59 feurfys Tﬂ'l'ﬂ'ﬂﬁlﬂ # SF snuRaE FuHs B s 2
AR

- (iv) AAA is valid mood in figure .......coeieiciienn .

AAA STRY oo ¥ g A E
(v)  When we apply conversion to an A proposition it becomes ..........cc.oeuenne. .
WE’HAVWWWW%@W ........................... s ST
T o
(vi) A and O propositions are ..........c.ececeeueeee to each other according to the Traditional

Square of Opposition.

W folde @ @ SRR A A 0 Wi T g @ -
T |
(vii) If A is true in the Traditional Square of Opposition then the truth value of I proposition
will be oo .
W Tl ol & SPER A A ¥ R A 1 viaafa w1 wod qed
.................... _@IT" | - ’ .
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(b) State whether the following are True or False. (Do any five) : 5

frafafes & & 7 ¥ 99 @ s § 1 (P ufe SR

@

(i)

(ii)

(v)

)

(vi)

AEI is a valid mood in Figure I
YqH Hfd H AEI T 99 9F ¥ |
The categorical proposition O distributes its predicate term.

Wwwﬁafﬂoﬁﬁqaaqam‘@m%l

‘All students are politicians’ and ‘some students are not politicians’ are contradictory

to each other.’

‘aﬁﬁmﬁﬂﬁa%’aw‘@ﬁmﬁuﬁmﬁ%’mﬁ
% M § |

Contrabosition of O proposition is valid.

O wfaaftd =1 wiaufeds du §

The universal proposition A and E don’t have existential import.
Yeordl yfaafia A don E ¥ oo aeed w6 @ &

In the proposition ‘Some dogs are wild’ both subject and predicate terms are

distributed.

‘@@W%’wmﬁaﬁe@wamf&aﬂwaﬁm
g1

P.T.O.
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(vii) Truth and Falsity are applicabl_e to sentences. |
TOdl Td SEcdl aE W le g
(viii) ‘So’ is a premise-indicator.
‘I’ Tk SuRa fRTE RO

Answer briefly (Do any ten) : : 20 -

L]

wfym s A (FE 7@ F )
() Explain the fallacy of undistributed middle.
HATW HeAH TE QY i AEA Wil |
(i) ,Explain the relation of contradiction in the Traditional Square of Opposition.
TR Ry i § e % wes #@oemen R 1
(iii) Define the fallacy of ilicit minor.
9y 9y W K IRwIf @S |
@iv) Déﬁné deductive reasoning.
frmtes gfer t oftamen difsw |
(v) Define a categorical proposition.

refirs s 1 aRe AR
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(vi) State the obverse of ‘Sorhé roses are black’.
el eE @ ® sue wfgefda w9 @fsm
(vii) State the converse o% ‘All elephants are herbivores’. |
‘it e W ¥ g Rt s AR )
A (viii) What do yog understand by immediate inference ?
SFeHAfEd STAM W MUH FN AN § 2

(ix) When the ‘I’ proposition is true what is the truth value of the corresponding A

proposition and why ?

N9 T iaAf@ 9 Bt ¥ AN wErt A wiwfa w1 s g 1o
e ¥ SR A 2 |
(x) What is the significance of the middle term in the categorical
syllogism ‘?.
w freufs =mgfa § nem w @ o owe § 2
(xi) What is class. as conceived by Aristotle ?
I W W T K yEuRonr w@w ¥ ?
(xii) Is EIO a valid Mood in First Figure ?
.wmouma:@ﬁfﬁ@éuﬁm% ?

P.T.O.
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(xiii) What do you understand by quality and quantity of a proposition ?

yiaafa & 70 w@ IRE F o9 @ GEed § 2

(xiv) Reduce into standard form :

frafafea & afes SRR ST .

- (@) Roses are fragrant. .
Ted e § |
() Few mathematicians are scientists.
%9 e St E
(xv) Give the contradictory of the following :
frfafea & samafoe w9 dfSw .
(@)  Some politicians are corrupt.
FB Tl 9 § |
(b)  All plants are carnivores.
Tt 99 mERR ¥
Answer any three questions :
Frefafen § ¥ ¢ 99 Ff

(1) What does mood signify in a categorical syllogism ?

& freafys =mafm 8 9w g @ Qe § 2
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(2) Explain and illustrate the rules of conversion.

yfadt & fad %1 seew wfed sren sifie |

(3) Write a note on distribution of terms:

o W ® =g W uw fewh fafag -
|
r (4) Explain the Traditional Square of Opposition.
| W faly T w1 sren s |
i
(5) Explain the problem of existential import.
L TAE A H GRS H e S |

3. Putany one of the following into standard form categorical syllogism and indicate its figure

and mood. 4+1+1=6

frfafen 4 @ fedt wh Ifm *1 So% 9Fe e frde =i § ofefia
VY Td ST Pl T ST SRy

(@) Some Asians are not Punjabis because some Asians are not Indians and some Indians

e e Nt

are not Punjabis.

o FER oo T § i wo el s ol € A g e
USTe TR ¥ |
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(b) No mechanics are writers and some photographers are writers. Thus some photographers

are mechanics.

aﬁé%ﬁﬁa?ﬁméwqﬁf%mmmwma%% 3md: wqﬁa‘mﬂ
T Bd § |

Test the validity and invalidity of any'.'rwo of the following :” ' 2+2=4
frafafen & @ frdl @ @1 Sumyedum @ waw FRG
() EIO+4 | |
(i) AAA-2
@iy 1AI-2

Section B

(@ 'w)
Identify and explain the informal fallacies committed in the fo]loWiﬁg passages (Do any
five) | | | o 10
frfafaa Tl%ﬂ?ﬁ T WﬂTﬁE H&f‘q’rﬁr @ﬁﬂl Q‘q’ T hifSIT (rch'ﬁl T
ﬁf@m)

(a) A black cat crossed the path of a traveller and shortly afterwards the traveller broke

his hand.

T el faeeh 3wk an @ v w R ok w59 @ R § 59 A
H A A |
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He is a big poet because he is from a big country.

a%@a@w'%aﬁ%aawﬁéémwﬁa@%u

Since a given cricket team is a good team, each of its players must therefore be

good.

¥ Wl frde G deT ¥ om: AW w1 s feand dew
€ 1

The object of war is durable peace, thus, soldiers are the best peace makers.

75 & xW Wl wih ¥ oom: faud wed o Wi wue @
N |

Listen to my commands; otherwise you will be behind the bars.
R ARY W G A W TAE ® G SR
Can you send a person to jail, the father of five children who lost their mother

only two weeks ago.

g oW TE stk ) FREE w2 9wy §, W i =

F f ¢ ook a3 @ wew @ @ e W W @ fem

!

‘Napoleon became a’ great emperor beca'u'se;he was short.
Yofeed Tk eR WHe S Hife I§R w] BRI Al |

P.T.O.
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6. Explain and illustrate any two of the following : 10
frafafen 4 4 i ¢ 1 A =wen FifT
(a) | Complex question
o WA
(b) Argument Ad Hominem
FfRE I B
(c¢) Fallacy of division.

- fomg AW

215 R T T R 100

S,

Pt




